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(EEHEANLLE)
BTTE IH% | #ExE% |AEREFEES BTHE TiEH | KXEH | HERHFESE
(I15) (A) (FA) (Ti5) (A) (FMA)

AH&®R —TE 6 165 394644||[lt B2 — T H 5 48 25,692
X#E®E —TH 13 248 615870|ff = — T H 1 X X
KHFR =TBH 7 66 102571||f = ZTH 3 94 403,481
KHFRER WTEH 20 183 195657|fF &= =T H 12 229 383,633
XK#H#E®E ATEH 15 92 86,357(F & M T B 2 X X
AX#&m —TE 30 287 363244 = H T H 2 x X
X#@ —TH 44 421 564516||4f = AN T H 4 73 77,622
X#H#Ed =TBH 35 349 615039 & +£ T H 6 62 82,939
K#HFm mTEH 28 326 625237 & J\ T H 27 297 367,423
X#HEd ATH 21 180 258758|th £ — T H 4 40 64,830
X&EH —TEH 19 179 325380|ith £ = T B 4 26 18,888
K#FEh = TH 8 191 343492/t £ =T H 10 92 197,800
XK#HED =TH 13 109 127,899t £ m T B 6 41 97,014
A#HEBE —TBH 46 575 773586\t £ AT B 4 108 142,788
X#®E —TEH 35 442 619400|it £ X T H 3 13 12,366
XK#HEWE =TH 16 286 375737||tt £ £ T H 2 X X
K#HEWE WTH 30 646 1275516|it £ J\ T H 12 131 207,393
XK#HEWE ATH 9 91 96,351|R;EE& —TH - - -
K#HMA ATEH 1 x X|mEE ZTBH 111 2,402 6,426,208
XK#HEAE £TH 18 469 2290500[R/E& =TH 2 X X
AX#Fd —TEH 2 14 25386[3 & — T B - - -
A#HFdE ZTE 1 x |8 &8 = TBH - - -
K#FIdX =TEH 8 82 167,139|FR & =T B - - -
K#FEd m®TH 1 4 2482|| & W™ TH - - -
K#FIHX ATEH 4 51 73888l & FH T B - - -
K#HFIdX ATEH 7 68 138,886(3 #& < T B 1 X x
AHEAE—TE 5 78 189962|fkm e —TH 3 63 626,598
RKHEABEZTEH 3 27 26500\ FEE ZTH 44 941 2,411,847
THME —TEH - - -|BEE =TH - - -
THME ZTH - - -|BESE mTH 16 257 757,401
B =TEH - - -|BESE £ TH - - -
THME WTEHE - - -|EEE ATH - - -
B ETEHE - - -|EESE £t TH - - -
EIHME AKTEHE - - -||KX #F #h X &t 816 12,297 29,520,806
BiE —TEH 8 131 381,826/|% 38 By 1 x X
BiE =—TH 10 224 936.185||78 ] i) 1 x X
W ¥ —TEH - - - |4t 38 iigg 3 37 66,950
W £ =—TEH 1 x x||H B 8 # m 7 94 82,824
W ¥ =TEH 3 30 49.229|H E 3 7 & HT 1 X x
I T mTH 2 10 3795|MEHH—TH 4 32 34,206
THMOHELAE - - -|BEREAF=THE - - -
®EWX —TEH 13 166 232536|[HEFAM=T B - - -
HEA ZTH 3 46 94,703|[HEAH T B - - -
mEA —TEH 3 31 29326|HEFAAETBE 2 X X
BMEXA ZTBH 5 51 35785 & X ¥ H - - -
BEA =TH 4 35 a628fEDK —TH 3 21 30,319
mERA MTH 3 15 151008 DA =T H 10 178 383,297
BEA ATH 1 x x|#eDK =TH 6 54 83,876
BEA AXTH 5 52 50477+ & — T B 7 72 109,816
b A —TEH 2 x x|+ & ZTBH 25 361 758,609
b EA ZTH 4 22 27415[F B =T B 2 x X
b EA =ZTH 5 13 259,849|[F@ AR —T B 1 X x
wmEA —TEH 8 331 1,467,670||FE AN R ZT B 2 X X
BEXA —TH 4 37 64622|ANE —TH 2 X x
ItEA —TH 3 69 80,653||ANE ZTH 19 256 445,195
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ETE IHH | EXEH %ﬁnﬁamﬁ%ﬁ%" BTE THHM | KXEH |HemdtmiEE
(I18) (N) (BFA) (Ti5) (AN) (FMA)

AR =TEH 1 X x|k & — TH 13 82 83,732
AHNE MTH - - - & =TBH 8 91 150,638
AMNE HETEH 10 194 218761||Fk & =T H 13 193 316,626
AMNE KTEH - - -lEA<E —TH 11 173 296,868
mT®R —TE 3 32 3BIR2||EAH ZTH 11 79 90,749
mT®R ZTE - - -lEA<EM =ZTH 16 203 254,908
BFH® =ZTH 1 X x|lFEAREP —TEHE 21 209 257,550
tF+F® —TEH - - -lEARE ZTH 21 204 356,795
dtFE ZTE 2 42 51313[[F A< ¥ =TH 26 649 836,844
dtFE =TBH 1 x x ||#8 75 4B TH 28 351 523,046
HIIET —TH - - -lmx<# —TH 31 378 485,193
RIIBT ZTH - - -l ZTH 39 455 652,277
it —TH 25 366 715248|[@ < =T H 38 535 1,235,099
ittt —TH 32 786 1,137,000\ < — T B 13 103 107,100
RES —TEH 1 x x| ARE ZTHE 7 94 235,858
RES ZTH 2 X x|fp <8 =TB8H 4 37 34,973
HRE® =TBH 3 19 23,535([{dh 7< 4B TH 8 80 90,235
HEH® WTEH 2 x x|FAF —TH 23 274 502,894
HE® ETH 3 44 77588 FHF Z—TH 42 743 1,868,819
MEAX —TBH 3 28 60912 FHF =TH 9 81 105,912
MES ZTEH - - -[Ta¥% mTH 16 451 2,378,697
BEA =TH - - -l o —TBH 16 311 480,986
BEAS WMTH 1 x x| B —TEH 33 403 652,853
BEA ATH 4 31 29405|% O =T H 36 868 1,651,430
e —TEH 3 26 73216 X0 —TH 2 X X
s ZTH 1 x x|lE&x0O =ZTEH 7 61 61,703
tit&s =TH 11 88 152049||R&x0 =TBH 3 23 19,629
rt#héeH mTEHE 1 x x|ZE)Nl —TH 17 180 306,384
tt&E RTEH 12 110 133,268(Z Il — T B 34 932 3,110,735
oMo X OE 218 3,198 5089522|mEH —TB8H 4 30 41,132
Bty —TEH 31 457 1,035967|FR 5 H — T H 19 286 507,250
Hitas =ZTBH 13 160 281,126|FE s A — T B 10 95 91,198
B#ts =TB 13 182 383988\ A —TH 27 220 322,107
RS TEH 23 349 456,620(lFE s HH =T B 14 125 142,915
B#ts ATEHE 48 630 1477,712|F B — T B 3 32 53,803
Bt AKTEH 18 353 963,114||[FEEH =T H 4 52 38,051
s —TH 12 104 110,725 S H =T B 5 55 102,600
wis =TH 25 296 495,219|(75 55 H TH 5 40 28,771
s =TH 33 323 537,669||[FAEEH EH T H 3 44 53,581
A mMTHE 9 127 275614|[FEEH K< T H 1 X X
d#a —TEH 24 2317 281241 EH +TH 2 X X
d#a —ZTH 19 255 583431|[F@HH /\TH 2 X X
P A KB M 13 986 7317166[F B — T B 11 203 267,119
B HA —TE 18 150 216,162|k8 H Z— T H 5 26 44,761
B A ZTB 8 38 46777 B =TBH 7 48 49,560
B B =TE 5 49 71582 H @ THE 2 X X
B A mWTE 7 61 54442 B FE T B 2 x X
B A RETE 7 43 46621|EE AR —TH 4 82 211,295
B B KTBH 7 50 38,258|/E EH AR ZTH 5 186 327,016
APFH —TH 37 325 1,363,876\ — T B 6 31 24,698
AFH ZTH 46 703 1,530287||F s — T B 3 15 11,061
APFH =TH 10 136 217,135\ F B H =T H 12 110 191,060
PIHZEE—TEH - - - B # X i 1,128 16,027 37,518,235
PHEE_-THE - - -
PHEE=ZTE - - -& it 2,162 31,522 72,128,563
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